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For indeed they have an aspect of stringency - AT TR TR W P

Overview

The X7m3 states that we cannot derive from a mw: 7% of D1 0731 %210 together
that ‘elsewhere’ the rule is also 7% XY 2»wn, since each of them have a
(different) stringency which is not found ‘elsewhere’.' This seems to be contrary to
the whole process of deriving from a mwin 7¥; even though individually they have a
X117, nevertheless since the M M are different we discount them (as long as there
1s no one common X127 for both parts of the MW 7¥). Mo0IN discusses this issue.

nooIn asks:
- 0PN ova 2oy 1800 MY 1Y) XD 15 ORT NYP

This is difficult, for if indeed one can ask on a MW 7¥ that 7R 78 172 w°, we will

never derive anything from a mw: 7% anywhere -
- %95 18 1N *9mN 18 IN 799919 XN INIINT

For on every mwn 7% we can refute it by arguing either the mwn 7% has a
stringent aspect or it has a lenient aspect —

N1B0IN answers:
- Sn39Wn PN 18 113 U 13V 590 7099 KINT PR 139395 NI

And it is the s'>''1 view that (only) here the X723 asks this (that the mw: 7% has a
70 7X¥), since they have an unusual =07 73 —

Mmoo offers an example of a A1Wn AN 7X -
- 61’)1\0): 19V 1NAY NIYN T8ND NN (x,0 97 0v) NN 77 PI92T NYNN 9D

Like that case in nyno» '? pap, where the X3 asks, ‘why is it by the 7w 7% that
one may not curse them, because they are unusual; this was said there -

! The stringency of 211 is that he pays 0127 71 and the stringency of 1" is that they do not require xn71. These are
two different N,
* A mwn 7% is where we derive that the rule which applies to A and B applies also to C. This applies in cases where A
& B have different nmn (or m9p) over C. Nevertheless since the mmin (or m9p) are different, and A, B, and C,
have a certain commonality, we can derive C from A & B (despite the separate M?1p/n1mm)
? See footnote # 2. If the rule we wish to apply to C is a X1, we can argue the C cannot be derived from A & B
since they have a X711 7¥ over C.
* This is in a case where we wish to derive a X9 for C. See previous footnotes # 2 & 3.
> Generally when the M of A & B over C are ‘regular’ mmin, we do not say 2V 7% 172 w° 19w; however when the
individual 111 of A & B are unusually strict (or lenient) we do refute the 7w 7% by saying (2p) 2w 7% 172 w° 1DW.
% The x7m3 there was attempting to derive a prohibition to curse one’s father from a mws 78 of WM X1 17, whom
one may not curse.
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= T Snows 71 23
Regarding a mw:a 7X of a judge a king, or a deaf mute. Therefore just as there the

X3 asks, IWH W MWR TR0 00, they are unusual M -
= 0927 INYN I NNN TN 2N ANIND 122298 PPN D927 HYNIN NoNT

So here too the MM of @27 Awnn (by %217) and that no 78907 is required (by

1"Y) is a much greater 21217 7% than other n»1n in other cases of a mwn 73, therefore we
can ask [A1Wwn] 0 TX 172 W IR T 9 -
- Yy95303 55315 AMNY 15991 9MNY Y2IND XN X9 991 1) Ipn 01

And conversely the »p71 73 here by a 9217 is a greater leniency than elsewhere,

for it is permitted for 72 to hit his friend -
- NP1 K9P M0 DUPN VY XY 1999997 019 199

And similarly by "'y they did not do an act; they merely spoke, this too is an
extreme leniency; therefore we argue here [A11wn] 9p 78 172 ww Mwn 7872 A0 —

mooin replies to an anticipated difficulty:
= VYYN NN OINOVY NNPY IMINT INNIY 129N

And even according to the one who maintains that the movement of the lips is

considered an action, so therefore there is no 77°n° X9p by 1"y, for they did a 7wvn; this is
not difficult -
- hoNea Y DININ NN DITY SINY (0w 3,70 97 P97NIDA 199N NN

For X217 states in 1°97710 'On, that 3''y are different, since their liability is from
seeing, and that is certainly not a qwyn —

Mmoo goes on to explain this refutation of 71n 7% elsewhere:
- 990 99 o9 1120 1) 79997 99) YAV U (3,05 nowy CDWA P92

" The % n of a 17 is that one must listen to his ruling. The P05 (in 12,25 [2*wown] MAW states 99PN K> DP9

(referring to a 17).

8 The X1 of a X°w1 is than one may not rebel against him. The 7710 writes (aw) that 7N X7 Java xown.

? We cannot derive a father from a wn, for perhaps because of his situation, the 770 had extra mercy on him. See

75,0 (D°W17P) R where the 710 writes wan 90 82, The X3 there assumes that these three n1mn are P1wn and

therefore it asks 1Wwn PW MW 735 0.

19 The %3 stated here that if X2p% x1mn, we still cannot drive from this Mw: 7% because %p T8 172 W 19W.

' 4"3 is permitted (and required) to mete out the punishment of N> and hit another Jew.

"2 The 1"y are testifying that they saw (something). Seeing is not considered a iwyn. See “Thinking it over’ # 1.

"> The X1 there wanted to derive that a *3w 733 [this means a loaf of bread which touched a person or a utensil

(pwr1) which came in contact with a Y7 (an aR™07 2X)] can be 71190 %010 (meaning that the 72170 [touched by the

>1w 723] cannot be eaten and must be burnt), from a MW7 7% of 21 2120 and 077 °2> who are 7170 Y.

A yaw7 ov 9120 (which the X3 is discussing there) is a person who touched a y7¥ (an 7%n107 2X) and became a

TRmY MWK, and was then 221. At that point he is no longer a xmw? MWXA (but somewhat akin to a ARMIV? "),

until nightfall when he is completely 0. A 21 9120 is 72170 2019, The R0 of 1 712w over "W 123 is, as the XX

states there, XMV 28 1192 1DW (however a 7133 can never be an AXMWA aX). The simple meaning is that this person
2
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And in 2w> P99 we can also explain it in this manner, where the X ) asks

regarding a 21 ®2av and earthenware utensils that we cannot derive a >3 933 from

them, because -
- 519583 RPVAY DN 93 NNYA NN 1Y 3971 MNN 18 1Y 1haY MYN 1815 I

Why is it that the mw 72 defiles 7170 because they have a mvan 7x; for the X7

considered a m9w» M%n 72 by a o917 993, for it is IX™W H2pn from its airspace -
- N2 ARMON AN NYIY 11 N 18 NNDPY PNITA W95 Y3 593 B 9131

And regarding a 21 912v we can also explain somewhat reluctantly that he is

called a 912m 7%, since he can become an 78257 2R just by touching alone; this is
a Inwn MAn T -
- 799930 AN ANDIV 19 ON NIN ANMIVN AN 927 DIV NINPY NN NN NOY

For it would not be apparent that anything can be an 7827 2R, unless the

aR»2w exudes from his body (like a a1 or a y7¥n), but not by merely touching something
else —

An alternate explanation of the X773 there:'®
- ANMIVA AN 193 )9V 79919 NXIINT 13590 BNNT NN 181 Vb v T

And additionally one can say that the =11 73 there means that we can refute
the mwn 7% that by both of them (21 7120 and 0717 °92) there is an AN®WT 28 in

their kind; by a ov 9120 this is obvious; a person can be an 7807 28, and regarding 077 %93 -
— 9951 95 ANMIVN AN 12902 Y DIPN DM AN NYYI 1N DN DT N1
So granted that a 91 %> cannot become an 18277 28, but nevertheless there
can be an 7827 2R in an object of his sort, much more than a loaf -
= \Y 299 195 ANNMIVH AR NINY DD DIV 13 W) Y9NV

For there is some vessel that is an NXMYVN AN, for instance a wooden vessel -
- ANMIVA AN NYYI 1N DIIN DIV DaAN

could have been an nxXn107 28 if he would have touched a na. However food can never become an fXm1ui7 ax.
" If a y7w (or any other AxmwA 2X) is suspended within the airspace of a 011 *95 the 07 *25 becomes Xav even
though it did not come in contact with the axmuvi aR. This is considered a 71w» an 7%, since we never find this
elsewhere.
'® We cannot say that the 72%w» Imam 7X is that he can be an x»10:7 28, for many things can be an X7 2X; it is not
that unusual.
7 An 7xm07 2R is a powerful n¥mIw, because only an XMWV AR can be 0221 DTR XMwn (not a MWR). One would
assume that it should be an intrinsic X”10 (a 19131 XYY AXNV), not an acquired XMV (by touching something Xnv).
'8 According to the following explanation, the 97an 7% there is not a 71w MR 7%, but rather it is the same X for
both items in the 7%77 7. Both 2 9120 and 071 °93 have the (same) X1 that 782107 28 1102 w2 and this is what the
X713 means there 1N 78 172 WOw MW T¥A? 71, one X1 for both (not like the first explanation here (regarding 235
°1®) or in our X3 where it is a 71wn a0 7X). See “Thinking it over’ # 3.
' mooin may not be (completely) satisfied with the previous explanation, as '9n himself writes w19% w* 1 2y 1201
121 AN T RMPY PmITR.
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But no food can ever become an x»;7 a2’

nooIN asks:
- 1999 PYNT Y9IN DNN NHDT DTN 12 PYNRY 135395 AP Zoowrran 5w

And the X'"aw9 has a difficulty with these two explanations; for the X772

should have said there (in 7010) that }wX= %28 will prove that the X37°0 of <»n 73 is
ineffective -
= VY NN 2N GN D295 NIV "mmwn AN 13991 PNY

For an w1 90X does not have in its kind an 8257 aR (unlike 0317 °921 o1 7120)

and nevertheless it is 77190 Rnwun, so I can also include 512 723 that even though PR

RNV 2R 1°132, nevertheless it should be 17N Rnvn -
- 2oy 015 9130 PYINA 1Y NYIY 19U PYRT Y9INY 113 X129 29

And if you will say, you know why 11@R9 9238 is 71170 Xavn, because it makes a
122 1w, however *1w 92X cannot be 7711 Xnun, so therefore it cannot be 5019

7m17n, we can respond that 21° 12w will prove that this is not a valid argument, for 12u
QY is not 172 1w 7wy, and nevertheless it is 72170 5010 -
- 9199Y DIV JXI PRT ZNWn 1oYW RNYA 593 799515 NI

And so now we cannot also ask that the mws 7% of o7m °%5 ,0» Mav, and 5O
WX are 1w for there is no MW by PwRY 72X —

mooIn (the X"aw") offers a new explanation by 1w 722:
= ANMIVN AN NN PRAY 295 DNNT 9NN 18 WY AR

And the X"2v1 would like to explain the 2121 7% there (even if we include 928
WX [that aXmva 28 o102 PR) because all of them (including WX 92I1X) come to
be Xnv from an IR2WT AN -
= ANMIVA AN I DN PYUNI IIINY DN 99 DY 91av4
For the 21 912 and the 99717 %®2 and the PwR= 92X all touched an IR2M7 2K -
- B1)UN9a NYN $3) N9 29WA 19 PRY DN

%0 This explanation of the X370 of the 7w 7% is that by 0°991 27X (the @1 »12v and 0 *%3) there is a possibility of
them becoming an XML X, however by 1w 135 (which is 1%928), it can never be an IR 2R
! The first w170 that the 1N of o 912w and 070 93 are 71wy, and the second W that the mw: T3 (which is "7
0717 and 21 9120) can become an IRMIW;I 2R, but *3w 733 cannot.
22 wxn 99 is food (which touched an ™A 28), which (as food) can never be an Ax™YI K.
> This refutes the second interpretation that the Xmb7 28 11»2 w> Mw: T%; if we add w1 9K there is no more v
ARMILT AR M2,
24 The first interpretation maintains that the n 1 of o 7120 and 0717 *93 are T1Wn; however now that we add 52X
1WA into the MW 7X there is no ANWH PW.
* This answer is similar to the second explanation mentioned earlier except that instead of saying that the < 7% is
TRMIVT AR 192 W w (which will not work with NwRY 92I1X) we say IR®IT AR 197 1R D210,
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Which is not so by 12 155, which only touched a 7x™0% 37WR, therefore we cannot
derive that *w 133 is 772790 Y019 from the MW 78 of 07 %95 ,0% 120 and WX 99X,

modoIn offers an alternate explanation in our X723 here:
= 90 98 7Y P9I OXTY 22XT U910 0N 1NN

n en explaine at regardin , We can sa X (with 7210) -
And the n''1 explained that regarding 'y y T X (with 21m)
- 1505291 05132 HAY 9199 YN YV NN T8 IMNT DIVN

Because the same 2121 7% of ®217 (which is °727 '72 217 10¥) can also be by 'y -
=121 1Y A1 02927 AWNN PNRTYNT 1IN 19°aNa DaNY 1NN Y 11y BN

If, for instance, the 1"V testified on someone that he wounded his friend and
they were 217, then the 1"y would pay the 29927 ' which they wanted to

obligate the accused to pay -
- NP3 INY NUN 1175 172 PN PN D21 Y2INAT IND 19W WAY Y YD T8

And regarding the %pr7 7% we can explain that by the mw: 7% there is only a W,

for by 1''¥1 %217 there is no n=> for their transgression, only merely a 1> -
= 595 22990 1119939 91903 KDY

So therefore we cannot derive from them NN 52997, like 1nx (if k7195 X11mn) —

mooIN goes on to explain another instance of 71n 7X:
= 1201997 DYTY) ¥ OV NOSINN 92957 (3,797 MINT NP 7993 1)

And similarly in the first P25 of m>» n2on where 777 " derives from 2'"'wxm

and 'y -
- 195 19915 7w 13 PRV INYT

That (even by) a 8> which there is no action, you receive np%» for it -
- DAY 1353951 0N 139399 9N 3 YIAY U NN 18 19Y DHaY MYN 1815 A 2575999

And the X713 there asks, ‘you know why the mwn 72 receives mp?» because it is
a "mn 78’5 we can explain it there as it was explained here according to the n''9
and the "' respectively” -

mooIn explores another MM 7X:
- PmNmva 199N 11992 23D (3,1 97 DnEe) PDIN 18D P92

%6 See “Thinking it over’ # 2.

% The WY of 912 7¥ 1% 1m0 X is an example of a 7w 12 PRY Y. It becomes 1M1 due to the lack of eating it.

2 The one who argues with >" and maintains 1°?¥ P17 1R Twyn 12 PRY XY, and does not derive it from the mws 7x.

2 According to the > we can say that the mmin of 2"w¥n (that o2wm 7717) and 1"V (RINT PN PR) are 7w,

According to the n"7 we can say that if 7"y came and testified that someone was a 7"wX™n and they were anm, they

would be oowm 1712 (like the 2"wxn), so they both have the same X,

0 The xm3 there is discussing why we need an additional P10 to teach us that 128 n1327p are offered even X™v3,
5
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And in P12 73°2 P95 regarding the teaching of Y72 (in its time), that even if it

is N2V we offer the 127p -
= N5 19V N 2N N D5 19V 1IN AN N 9INT

Where the X723 states, ‘if the rule of 17v1m2 would be written only by 75%n, I
would not be able to derive it by 1o, since the 70 is burnt completely, and if
179122 would be written only by 105, I would not be able to derive 7»n from it,

since by 1105 1277 there is a N2 211 if one does not bring it; not so by the 7»n -
- Syyan 7% )92 W 19V 1IN

If the 70 would have written it only by both of them (7991 7nn), I would not
know concerning other 2% M127p, since there is a 97 7% by oo 7m0 —

mooIn responds:
- 2awaaY 07Yn YN X9 180 NN 99519 19981 RYT H1INNR XIS DIV W oNN

There by noo1 710 there is some other refutation, why we cannot derive other

712% MI137p from 11091 7720, however the X923 was not concerned to explain it -
$9999%7 9127 PHNDN LN DYLI)

So with a minor reason the X713 removes itself by saying they are all necessary
MoDY TN and 713X MIATP.

Summary
7M1 7¥ may mean that the M7 (or M7P) of the MW 7% are unusual in their X

(or X71p), or it may mean that both members of the Mw:7 7¥ have a similar X1177.

Thinking it over
1. mpoIn explains that even if we maintain that 7wy» "7 1°NoW NPy, nevertheless

the 2vn for 1"y is considered wyn Wy X%, because the 211 is for the 7x1.>* This
seems very difficult; we are discussing 1"v, who are lying, they did not see
anything, so how can we say that the 2117 is for the 7°X7 (which never took place);
the 21 is only for their testimony?!>

why cannot we derive it from 701 102
*! Seemingly how do we interpret 1mam 7% there according to all the explanations given?
32 See 'oIn there 19w 7"7 that no9Y 710 are different since they were offered even before 7710 1nn.
33 The reason w19> W XY is because it is not relevant 73979 since in fact the other M7 are also bought xmWI; we
are merely explain a XM>"X, so the reason for the XN13°7¥ is not that important (see X"w7in). See “Thinking it over’ # 3.
** See footnote # 12.
%5 See 121 31 MX M7 oW,
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2. Initially the &3 stated that we can derive from the mwi 7% of 1"¥1 2217, for if we
will say 0°127 '172 21 1w 9277 71, we will answer 117°21 1"V indicating that 1"V are
not liable 0727 '12. How can the "7 then say’® that the X37°0 of Mnn 7¢ means that

by 1"v there is also 0127 '71, when the X713 just said that there i1s no 2127 7 by
r"y?1Y

3. How will '01n explain in some of the other i 7 answers,”® why indeed the
X3 did not state the real reason (since it is a real X37°9, not merely a NﬂD’WB),”
and instead merely states 7117 7X?

% See footnote # 26.
7 See 7"w 0",
¥ For instance by that the 7w 73 of 1"¥1 9211 are not Mn™>3 21, or that by *1w 733 the 7w 78 comes from an 2x
a8 (see footnote # 18), etc.
* See footnote # 33.
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